[ Efficiency vs vertpos |
~0.02

TS NS N S S—

.............................................

.............................................

&
<+

T TT

0.95
1072

Efficienq ——

Y SRS SRR USSR RSSO OSSO OO
0.004F oo
0.003F-----5-nnee-

[y

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.05 .
> ) S T ST R
00.045 A R prety A e
S : : : : : :
7L S Rt A S A A
Bt AR S SRS T
P : : : : : :
c0.03
[}
8.025
©
0.02
0.015
0.01

0.005

) (.

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


